

# A remark on Turyn's construction of conference matrices

Akihiro Munemasa<sup>1</sup>

<sup>1</sup>Graduate School of Information Sciences  
Tohoku University  
(joint work with Robert Craigen and Ferenc Szöllősi)

March 6, 2015  
Finite Geometries and Combinatorial Designs  
Tokyo University of Science

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix}$  :  $(n+1) \times (n+1)$  matrix with entries in  $\{0, \pm 1\}$ ,

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = C \otimes C \otimes C - I \otimes J \otimes C - C \otimes I \otimes J - J \otimes C \otimes I$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix}$  :  $(n+1) \times (n+1)$  matrix with entries in  $\{0, \pm 1\}$ ,

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ DJ = 0, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ DJ = 0, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ DJ = 0, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ DJ = 0, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$



# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ DJ = 0, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ DJ = 0, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad \mathbf{CJ} = \mathbf{0}, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ \mathbf{DJ} = \mathbf{0}, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

# Goldberg (1966) $C(n+1) \implies C(n^3+1)$

Symmetric conference matrix with core  $C$ :

$$W = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & C \end{bmatrix} : (n+1) \times (n+1) \text{ matrix with entries in } \{0, \pm 1\},$$

$$C = C^\top, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J.$$

Then

$$D = \begin{matrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{matrix} \text{ satisfies } \begin{matrix} \text{disjoint} \implies (0, \pm 1) \text{ matrix} \\ D \circ I = 0, \\ DJ = 0, \\ D^2 = n^3 I - J. \end{matrix}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{symmetric conference matrix.}$$

Assume  $C$ :  $n \times n$  matrix with entries in  $\{0, \pm 1\}$ .

$$C = C^\top, \quad CJ = 0, \quad C \circ I = 0, \quad C^2 = nI - J$$

$D = B_0 + B_1 + B_2 + B_3$ , where

$$B_0 = C \otimes C \otimes C$$

$$B_1 = -I \otimes J \otimes C$$

$$B_2 = -C \otimes I \otimes J$$

$$B_3 = -J \otimes C \otimes I$$

$$D^2 = (B_0 + B_1 + B_2 + B_3)^2 = n^3 I - J.$$

Assume  $C$ :  $n \times n$  matrix with entries in  $\{0, \pm 1\}$ .

$$C = C^T, \quad CJ = 0, \quad C \circ I = 0, \quad C^2 = nI - J$$

$D = B_0 + B_1 + B_2 + B_3$ , where

$$B_0 = C \otimes C \otimes C$$

$$B_1 = -I \otimes J \otimes C$$

$$B_2 = -C \otimes I \otimes J$$

$$B_3 = -J \otimes C \otimes I$$

$$\begin{aligned} D^2 &= (B_0 + B_1 + B_2 + B_3)^2 \\ &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI - J \otimes J \otimes J. \end{aligned}$$

Assume  $C$ :  $n \times n$  matrix with entries in  $\{0, \pm 1\}$ .

$$C = C^T, \quad CJ = 0, \quad C \circ I = 0, \quad C^2 = nI - J$$

$D = B_0 + B_1 + B_2 + B_3$ , where  $J^2 = nJ$

$$B_0^2 = (C \otimes C \otimes C)^2$$

$$B_1^2 = (-I \otimes J \otimes C)^2$$

$$B_2^2 = (-C \otimes I \otimes J)^2$$

$$B_3^2 = (-J \otimes C \otimes I)^2$$

$$\begin{aligned} D^2 &= (B_0 + B_1 + B_2 + B_3)^2 \\ &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI - J \otimes J \otimes J. \end{aligned}$$

Assume  $C$ :  $n \times n$  matrix with entries in  $\{0, \pm 1\}$ .

$$C = C^\top, \quad CJ = 0, \quad C \circ I = 0, \quad C^2 = nI - J$$

$D = B_0 + B_1 + B_2 + B_3$ , where

$$B_0^2 = (nI - J) \otimes (nI - J) \otimes (nI - J)$$

$$B_1^2 = I \otimes nJ \otimes (nI - J)$$

$$B_2^2 = (nI - J) \otimes I \otimes nJ$$

$$B_3^2 = nJ \otimes (nI - J) \otimes I$$

$$\begin{aligned} D^2 &= (B_0 + B_1 + B_2 + B_3)^2 \\ &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI - J \otimes J \otimes J. \end{aligned}$$



Assume  $C$ :  $n \times n$  matrix with entries in  $\{0, \pm 1\}$ .

$$C = C^\top, \quad CJ = 0, \quad C \circ I = 0, \quad C^2 = nI - J$$

$D = B_0 + B_1 + B_2 + B_3$ , where

$$B_0^2 = (nI - J) \otimes (nI - J) \otimes (nI - J)$$

$$B_1^2 = nI \otimes J \otimes (nI - J)$$

$$B_2^2 = (nI - J) \otimes nI \otimes J$$

$$B_3^2 = J \otimes (nI - J) \otimes nI$$

$$\begin{aligned} D^2 &= (B_0 + B_1 + B_2 + B_3)^2 \\ &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI - J \otimes J \otimes J. \end{aligned}$$

Assume  $C$ :  $n \times n$  matrix with entries in  $\{0, \pm 1\}$ .

$$C = C^\top, \quad CJ = 0, \quad C \circ I = 0, \quad C^2 = nI - J$$

$D = B_0 + B_1 + B_2 + B_3$ , where

$$B_0^2 = (nI - J) \otimes (nI - J) \otimes (nI - J)$$

$$B_1^2 = nI \otimes J \otimes (nI - J)$$

$$B_2^2 = (nI - J) \otimes nI \otimes J$$

$$B_3^2 = J \otimes (nI - J) \otimes nI$$

$$\begin{aligned} D^2 &= (B_0 + B_1 + B_2 + B_3)^2 \\ &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI - J \otimes J \otimes J. \end{aligned}$$

Assume  $C$ :  $n \times n$  matrix with entries in  $\{0, \pm 1\}$ .

$$C = C^\top, \quad CJ = 0, \quad C \circ I = 0, \quad C^2 = nI - J$$

$D = B_0 + B_1 + B_2 + B_3$ , where

$$B_0^2 = (nI - J) \otimes (nI - J) \otimes (nI - J)$$

$$B_1^2 = -nI \otimes (-J) \otimes (nI - J)$$

$$B_2^2 = -(nI - J) \otimes nI \otimes (-J)$$

$$B_3^2 = -(-J) \otimes (nI - J) \otimes nI$$

$$\begin{aligned} D^2 &= (B_0 + B_1 + B_2 + B_3)^2 \\ &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI - J \otimes J \otimes J. \end{aligned}$$

$$B_0^2 = (x_1 + y_1)(x_2 + y_2)(x_3 + y_3)$$

$$B_1^2 = -x_1y_2(x_3 + y_3)$$

$$B_2^2 = -(x_1 + y_1)x_2y_3$$

$$B_3^2 = -y_1(x_2 + y_2)x_3$$

$$\text{sum} = x_1x_2x_3 + y_1y_2y_3$$

$$B_0^2 = (x_1 + y_1)(x_2 + y_2)(x_3 + y_3)$$

$$B_1^2 = -x_1y_2(x_3 + y_3)$$

$$B_2^2 = -(x_1 + y_1)x_2y_3$$

$$B_3^2 = -y_1(x_2 + y_2)x_3$$

$$\text{sum} = x_1x_2x_3 + y_1y_2y_3$$

$$\begin{aligned} D^2 &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI + (-J) \otimes (-J) \otimes (-J). \\ &= n^3I - J. \\ &\implies \exists C(n^3 + 1). \end{aligned}$$

$$B_0^2 = (x_1 + y_1)(x_2 + y_2)(x_3 + y_3)$$

$$B_1^2 = -x_1y_2(x_3 + y_3)$$

$$B_2^2 = -(x_1 + y_1)x_2y_3$$

$$B_3^2 = -y_1(x_2 + y_2)x_3$$

$$\text{sum} = x_1x_2x_3 + y_1y_2y_3$$

$$\begin{aligned} D^2 &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI + (-J) \otimes (-J) \otimes (-J). \\ &= n^3I - J. \\ &\implies \exists C(n^3 + 1). \end{aligned}$$

Seberry (1969) found analogous construction for  $C(n^5 + 1), C(n^7 + 1)$ .

$$B_0^2 = (x_1 + y_1)(x_2 + y_2)(x_3 + y_3)$$

$$B_1^2 = -x_1 y_2 (x_3 + y_3)$$

$$B_2^2 = -(x_1 + y_1) x_2 y_3$$

$$B_3^2 = -y_1 (x_2 + y_2) x_3$$

$$\text{sum} = x_1 x_2 x_3 + y_1 y_2 y_3$$

$$\begin{aligned} D^2 &= B_0^2 + B_1^2 + B_2^2 + B_3^2 \\ &= nI \otimes nI \otimes nI + (-J) \otimes (-J) \otimes (-J). \\ &= n^3 I - J. \\ &\implies \exists C(n^3 + 1). \end{aligned}$$

Seberry (1969) found analogous construction for  $C(n^5 + 1), C(n^7 + 1)$ .

Different method by Belevitch (1950) for  $C(n^2 + 1)$ .

## Theorem

$\exists$  symmetric conference matrix of order  $n + 1$   
 $\implies \exists$  symmetric conference matrix of order  $n^k + 1$   
for any **odd** positive integer  $k$ .



## Theorem

$\exists$  symmetric conference matrix of order  $n + 1$   
 $\implies \exists$  symmetric conference matrix of order  $n^k + 1$   
for any odd positive integer  $k$ .

Assume

$$C = C^T, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J$$

$$D = C \otimes \cdots \otimes C$$

...

## Theorem

$\exists$  symmetric conference matrix of order  $n + 1$   
 $\implies \exists$  symmetric conference matrix of order  $n^k + 1$   
for any odd positive integer  $k$ .

$k = 3$ :

$$D = \begin{pmatrix} C \otimes C \otimes C \\ -I \otimes J \otimes C \\ -C \otimes I \otimes J \\ -J \otimes C \otimes I \end{pmatrix} \text{ satisfies } \begin{cases} DJ = D \circ I = 0, \\ D^2 = n^3 I - J. \end{cases}$$

$$\implies \tilde{W} = \begin{bmatrix} 0 & \mathbf{1} \\ \mathbf{1}^\top & D \end{bmatrix} : \text{ symmetric conference matrix.}$$

## Theorem

$\exists$  symmetric conference matrix of order  $n + 1$   
 $\implies \exists$  symmetric conference matrix of order  $n^k + 1$   
for any odd positive integer  $k$ .

Assume

$$C = C^T, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J$$

$$D = C \otimes \cdots \otimes C$$

–  $\sum$  replace some  $C \otimes C$  with  $I \otimes J$

## Theorem

$\exists$  symmetric conference matrix of order  $n + 1$   
 $\implies \exists$  symmetric conference matrix of order  $n^k + 1$   
for any odd positive integer  $k$ .

Assume

$$C = C^T, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J$$

$$D = C \otimes \cdots \otimes C$$

$$- \sum_{t=1}^{(k-1)/2} \text{replace } t \text{ } C \otimes C\text{'s with } I \otimes J\text{'s}$$

## Theorem

$\exists$  symmetric conference matrix of order  $n + 1$   
 $\implies \exists$  symmetric conference matrix of order  $n^k + 1$   
for any **odd** positive integer  $k$ .

Assume

$$C = C^T, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J$$

$$D = C \otimes \cdots \otimes C$$

$(k-1)/2$

$$- \sum_{t=1}^{(k-1)/2} \text{replace } t \text{ } C \otimes C \text{'s with } I \otimes J \text{'s}$$

Summands are disjoint, orthogonal

## Theorem

$\exists$  symmetric conference matrix of order  $n + 1$   
 $\implies \exists$  symmetric conference matrix of order  $n^k + 1$   
for any odd positive integer  $k$ .

Assume

$$C = C^T, \quad C \circ I = 0, \quad CJ = 0, \quad C^2 = nI - J$$

$$D = C \otimes \cdots \otimes C$$

$$- \sum_{t=1}^{(k-1)/2} \text{replace } t \text{ } C \otimes C \text{'s with } I \otimes J \text{'s}$$

Summands are disjoint, orthogonal  $D^2 = n^k I - J?$

$$C^2 = nI - J, J^2 = nJ$$

$$D = C \otimes \cdots \otimes C$$

–  $\sum$  replace  $t$   $C \otimes C$ 's with  $I \otimes J$ 's

$$D^2 = C^2 \otimes \cdots \otimes C^2$$

–  $\sum$  (replace  $t$   $C \otimes C$ 's with  $I \otimes J$ 's)<sup>2</sup>

$$C^2 = nI - J, J^2 = nJ$$

$$D = C \otimes \cdots \otimes C$$

–  $\sum$  replace  $t$   $C \otimes C$ 's with  $I \otimes J$ 's

$$D^2 = C^2 \otimes \cdots \otimes C^2$$

–  $\sum$  (replace  $t$   $C \otimes C$ 's with  $I \otimes J$ 's)<sup>2</sup>

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J)$$

–  $\sum$  replace  $t$   $(nI - J) \otimes (nI - J)$ 's with  $I \otimes nJ$ 's



$$C^2 = nI - J, J^2 = nJ$$

$$D^2 = C^2 \otimes \cdots \otimes C^2 \\ - \sum (\text{replace } t \text{ } C \otimes C\text{'s with } I \otimes J\text{'s})^2$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } I \otimes nJ\text{'s}$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } nI \otimes J\text{'s}$$

$$C^2 = nI - J, J^2 = nJ$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } I \otimes nJ\text{'s}$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } nI \otimes J\text{'s}$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum_{t=1}^{(k-1)/2} (-1)^t \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } nI \otimes (-J)\text{'s}$$

$$C^2 = nI - J, J^2 = nJ$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } I \otimes nJ\text{'s}$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } nI \otimes J\text{'s}$$

$$D^2 = (nI - J) \otimes \cdots \otimes (nI - J) \\ - \sum_{t=1}^{(k-1)/2} (-1)^t \text{replace } t \text{ } (nI - J) \otimes (nI - J)\text{'s with } nI \otimes (-J)\text{'s}$$

$$x_i = nI, y_i = -J$$

$$\begin{aligned}
& (x_1 + y_1) \otimes \cdots \otimes (x_k + y_k) \\
& - \sum_{t=1}^{(k-1)/2} (-1)^t \text{replace } t \text{ } (x_i + y_i) \otimes (x_{i+1} + y_{i+1}) \text{'s with } x_i \otimes y_{i+1} \text{'s} \\
& = x_1 \cdots x_k + y_1 \cdots y_k
\end{aligned}$$

$$\begin{aligned}
& (x_1 + y_1) \otimes \cdots \otimes (x_k + y_k) \\
& - \sum_{t=1}^{(k-1)/2} (-1)^t \text{replace } t \text{ } (x_i + y_i) \otimes (x_{i+1} + y_{i+1}) \text{'s with } x_i \otimes y_{i+1} \text{'s} \\
& = x_1 \cdots x_k + y_1 \cdots y_k
\end{aligned}$$

This is a consequence of the inclusion-exclusion, or more generally, the Möbius inversion.

# Inclusion-Exclusion

$f : A \rightarrow M$ ,  $M$ : abelian group.

$A_1, \dots, A_k \subset A$ .

$$\sum_{a \in \bigcup_{i=1}^k A_i} f(a) = - \sum_{t=1}^k (-1)^t \sum_{|T|=t} \sum_{a \in \bigcap_{i \in T} A_i} f(a).$$

# Inclusion-Exclusion

$f : A \rightarrow M$ ,  $M$ : abelian group.

$A_1, \dots, A_k \subset A$ .

$$\sum_{a \in \bigcup_{i=1}^k A_i} f(a) = - \sum_{t=1}^k (-1)^t \sum_{|T|=t} \sum_{a \in \bigcap_{i \in T} A_i} f(a).$$

If  $f = 1 : A \rightarrow \mathbb{Z}$ , then

$$\left| \bigcup_{i=1}^k A_i \right| = - \sum_{t=1}^k (-1)^t \sum_{|T|=t} \left| \bigcap_{i \in T} A_i \right|.$$

A weighing matrix of order  $n$  and weight  $w$ , denoted  $W(n, w)$ , is a  $(0, \pm 1)$  matrix  $W$  satisfying  $WW^T = wI$ .

### Theorem

Let  $k$  be odd.

$$\exists W(n_i + 1, w) \ (i = 1, \dots, k) \implies \exists W(n_1 n_2 \cdots n_k + 1, w^k).$$

Originally formulated by Craigen (1992).





ELSEVIER

Available online at [www.sciencedirect.com](http://www.sciencedirect.com)



Journal of Combinatorial Theory, Series A 113 (2006) 1689–1698

Journal of  
Combinatorial  
Theory

Series A

[www.elsevier.com/locate/jcta](http://www.elsevier.com/locate/jcta)

## Hyperplane partitions and difference systems of sets <sup>☆</sup>

Ryoh Fuji-Hara <sup>a</sup>, Akihiro Munemasa <sup>b</sup>, Vladimir D. Tonchev <sup>c</sup>

<sup>a</sup> *Graduate School of System and Information Engineering, University of Tsukuba, Tsukuba, Ibaraki 305-8573, Japan*

<sup>b</sup> *Graduate School of Information Sciences, Tohoku University, Sendai 980-8579, Japan*

<sup>c</sup> *Department of Mathematical Sciences, Michigan Technological University, Houghton, MI 49931, USA*

Received 29 July 2005

Available online 12 June 2006